Place value

Tick the correct alternative

1) 5 2 = 5 tens plus 2 ones

4 tens plus 12 ones

3 tens plus 15 ones

5 tens plus 1 ones

4 tens plus 8 ones

2 48

6 tens plus 12 ones

3 tens plus 18 ones

4 tens plus 4 ones

3 fens plus 6 ones
36 :

3
6 tens plus 12 ones

1 ten plus 20 ones

2 tens plus 16 ones

8 tens plus 8 ones
4 88 = 6 tens plus 12 ones

7 ten plus 18 ones

7 tens plus 7 ones

2 fens plus 1 one

J 21 =

2 tens plus 0 ones

1 ten plus 11 ones

1 tens plus 1 one




1)

2)

4)

9)

52

438

36

88

21

Answers

Tick the correct alternative

5 tens plus 2 ones

4 tens plus 12 ones

v

3 tens plus 15 ones

5 tens plus 1 ones

4 tens plus 8 ones

6 tens plus 12 ones

3 tens plus 18 ones

v

4 tens plus 4 ones

3 tens plus 6 ones

6 tens plus 12 ones

1 ten plus 20 ones

2 fens plus 16 ones

v

8 tens plus 8 ones

6 tens plus 12 ones

7 ten plus 18 ones

v

7 tens plus 7 ones

2 tens plus 1 one

2 tens plus 0 ones

1 ten plus 11 ones

v

1 tens plus 1 one

J




